Wk 26 FE E R E EB RN E
2K & 5 201
—
OB A | RN RS R
¥ % %o REFHT AR — T H HipN
B2
e SRR 4Rk N=124
HHHE  A=0. 011knt
w BEHLHIE L=0. 56k
% B M O phwe a7
B
EKFEMELET (B)  L=0. lkm
BT EE L=0. 4km
K o Ik a4 Wi g AAL
AR ANMLERNC S X, tRa X N THEBHIICRERDO H 5
¥ HEEM B | EELL., BRRETER LESEERFEFEESICBOTHNE LIkE L%k
BIX A DS Btk DEE 28T LT,
Bl AL ¥ 47 H| Fpk 264 6H 5 H 1385 1574
Bl AL & Pt RREUTRYG BIfESRE REAS=E
Y & M A 7,553,000 [Bitk: 1] 8, 157, 240 [#iiA : [H]
& K W R RS RER L Bk 1] FERL [BHA M)
TReHE (4 ) 3, 700, 000 [#itk : M) 3,996, 000 [#iA : []
[Bitk - M) [BiiA : 1]
g bkE (28
R (£ H) UBitk - 1] TR
59w w w R BRRF R B 7 el 435 B X ol (5 87 % 4 1 H 183%% 3 7=
" SV P IS A s e
JBATHAR (4 ) | PRk 2648 64 6H 0~  CEAk 2646 9H 10H
~ ~ gk H H H
= IR
JEATHAR] (22 ) N Tk e I i
A AL £ = va MNAL&%E (Bidk - 1) 5 E:d
1 |kt T ge T 3, 700, 000 PEAL
2 MR =xX/—x=x 4, 400, 000
3 | RIMEIEAN FHHT e 2 — 4,637, 500
4 Bt v—FRarurE o N KRG 5,222,000
bo|sH—mERERE HRSatt 5, 485, 000
6 Bkt W7 7T A RN 5, 900, 000
7 KRSt EEEE BREEE AT 6, 120, 000
8 et F— - -zxarHAxr b KRYE 6, 690, 000
9 |\PEMHERRE MRSt KO ESAT 6, 790, 000
10 KRSt AR KBGO a4 felk
(M)
fii
=




Wk 26 AFE O ER B E B R KR
oK B 5 202
—
¥ OB A | MEACKEMbE RN RIS R
¥ % %o REHUHT KT LR HIN
e
R SE N=45 R 1=0. 05km
HiHA & A=0. 001knd
U A 2
¥ % M = WoR—V 7 N=5AK  RIBREX N=2f&FT
FA L N=5AT BEHKIR L ) £ Lo 1%
Wik S DIER 15
WAL
WRFEMIRE S L=0. 05k
K o Ik a4 Wi g AAL
FRA A NMLERNC IS X, ERa X N TEBHMICEERO H 5
% % 58 E fﬁ EE %%L& L/\ %%&%IJIZ%%;L&C%%&& L?‘:Z)ﬁ%%‘fé%%bi‘b\fo@\f:&)\ ﬁ?
= MR T R E R BB\ CHIR LI E U SR K45 78 B 25k
D¥EZEZERE LT,
Bl AL ¥ 47 H| Fpk 264 6H 5 H 13 B 50 4y
Bl AL & Pt RREUTRYG BIfESRE REAS=E
Y E Ol K 3, 278, 000 [#itk : M] 3, 540, 240 [#iiA : 1]
& K W R RS RER L Bk 1] RER L [BUA [
TReHE (4 ) 2,295,000 [#itk : M) 2,478,600 [#iiA : 1]
[Bitk - M) [BiiA : 1]
B eE (2
R (£ H) UBitk - 1] TR
2 4 % ¥ KBSORF AR B i va ) XA 1 T H20— 3
" Matt Bl Y=YV KRBT
BATHIM (5 %) YRk 268 6 H 6 H o~ R 264 10H 28 H
B ~ gk H H H
= IR
JEATHAR] (22 ) N Tk e F i
A AL £ = va MNAL&%E (Bidk - 1) 5 E:d
1 At Bl Y=Y v r KRR 2,295, 000 WAL
2 MRS AR A2 N KBRE 2,300, 000
3 RSt A rarHAry N KIRKIE 2,470, 000
4 | FnikiRl RS KB 2, 730, 000
L Ve s SR E AR/ SN &3 [ 2, 850, 000
6 Mttt =T 2,985, 000
7 \MEEE RSt 3, 108, 000
8 |kt HmREMfa YLz 3, 220, 000
9 PR Y=T VT KBSt KIESRT a4 felk
10 Bkt 2 7z vz o b RIRCE AT a4 felk
(M)
I
£




- pk 26 A R FR R E B WK B E
2K F 203
¥ B 4| MOARMEGLIEN R R
¥ B Y% oo RERUHT RACRES F. T H HIN

W B

WA
¥ B # =

FIXIJJF%T)’:/

s
2K o F ok fa4a i 4 ANHL

fa4 nﬂ%)\ﬂgfﬂ %Oé‘ j:7!<:1 /4%11/5' / I\ “G%%iﬁ%ﬁﬁ%&lﬂﬁi@

S IIESS 75>B%§1’*&@%% JJ[IZ
WIS LIRGE L7 X0 28 Ak D3E# 2 130 LT,

Mﬁm@%1$£%ﬁLméﬁx

B AL # 1T H| ¥Rk 264 6H 5H 14 FF 25 4y
B AL & P REETRYG BIEE3BE HES=
T oE Al & 1, 315, 000 [®itk : M] 1,420, 200 [®iiA : H]
B ARl RR A% BRER L Bk M) BRER L [BUA M)
ZHRIem (4 ) 920, 000 [®Bitk : M] 993, 600 [®iiA : M]
i (e (Bisk - 1] [BiiA : 1]
Rel (£ F) [Bifk : 1] [Bia - 1)
s KBRS S5 P AT MR 5% i 4 34575 Hb
RAR A s R R
JBATHIR (4 1) | Fpk 264 6H 6H @~ KA 264 10H 2H
L " ~ gk &R H H
JBATHIR (& ) < e s q
A L = * Za AL (Bidk - 1) T Py
L |RASth mREE P e T 920, 000 %L
2 MOGzarvH# Lz #RlS&tt 980, 000
3 |BREEEREE MRSt KBEHSHT 1, 315, 000
4 |E BN RSt KBS 1, 315, 000
5 | ARG MR StE KR AT 1, 315, 000
6 Bkt BB ZEMIRFZERT  RBROARHE: SIS
7 Bk =7 Y v RSt LRIz
8 |HAHEM—Ee A XSt KIEET SIS
9 |BESAE T Hi a2 o b KBCE AT A fER
10 Bl Rl KBS A fER
(ZE L 45)
fisi
£




